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It is deep ten but it is not high ten — " maA PRY S APINY

Overview

7717 " ruled that if the ship is ten 2°19Y deep (so it is a *"777) but it is not ten 2°1dY
above the sea (so the airspace above the sea is a n°?»72), one may not draw water
from the sea into the boat. Previously there was a dispute how to measure the ten
0°now height of a n°2»75 in a sea. Do we measure the ten 0°nov from the seabed and
anything above that is a M 21pn, or do we measure it from the sea level and ten
o mov above that is a Mo 21pn. Seemingly 7717 " disagrees with one of them.

mooIn anticipates a difficulty:
- 11U RYIND 999 VINT INPY MYPNY PR XN

We cannot ask from the ruling of " here on the one (X177 27) who said previously
that we measure the 0" from the ground (seabed) —

mooin replies:
:N999NID NINY U5 17 2XDDT 9999 NONT

For here we are discussing a case where there is even not a minimal protrusion
to serve as a distinguishing marker

Summary
X177 27 agrees that if there is no "> 17, one may not carry from the sea to the ship.

Thinking it over
1. What would 1177 27 maintain if the ship 1s "> above sea level, but there is no 11
w"y?

2. What does the "> 11 marker accomplish?

!'X1177 27 maintains that since a ship always travels in water which is (at least) 2’nov " deep, the area above the sea is a
MWD DA, so it is permitted to draw water from the sea into the ship. However here > rules that if the ship is not v"™
above the seal level one my not draw water from the sea into the boat (indicating that we do not measure from the
seabed but rather from the surface); contradicting this which X117 27 maintains. The 7127 of "1 certainly agree to > in
this; see previous *27 17"7 'on.

2 x117 27 only permitted carrying from the sea onto the ship if there is a X¥w 93 71 protruding from the ship; however
if there is no w"> 11, even X117 27 would agree (with the "1 7127) that one may not carry from the sea onto the ship (if
the ship is not v" above sea level).

3 See [T1xa] R"wAmn.
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